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Introduction
This year’s group of candidates are the lucky ones. Once every four years, groups experience 
a presidential election taking place and a new president launching them into the role. With 
this knowledge of both, candidates were able, in almost every question, to use this on this 
year’s 3C paper. Examiners are always impressed by the hard work that teachers put in to 
keep their candidates up to date, and it was certainly rewarded by some really impressive 
answers. 

Of the 15 mark questions, the affirmative action question proved perhaps the most 
challenging. Under-achievement here was almost always attributable to candidates not 
paying sufficient attention to its wording, and reproducing an answer they had prepared for 
a similar but different question. This emphasises the importance of the oldest exam advice, 
namely to answer the question. Another issue with this topic is the use of statistics, and more 
than most, it seems to invite candidates to pepper their answers with unattributed and 
unverifiable percentages which can be given very little reward. 

The best 45 mark answers were found in the question on presidential elections which 
allowed candidates to demonstrate more of their individual judgement than either of the 
others. Pressure group questions almost invariably elicit a more or less formulaic answer,  
in which candidates rehearse a very familiar list of sub-topics – revolving doors, iron 
triangles – with more or less dexterity. In contrast, almost every candidate who answered 
the election question could come to some sort of judgment as to whether Trump’s 
personality or policies contributed more to his victory and it made for a more interesting 
and effective answer.  
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Question 1
See examiner comments below.

This was a popular question and most candidates could clearly outline three policies of the 
Obama administration, most frequently "Obamacare", the 2009 stimulus bill, and gun and 
immigration policies. Discrimination between Level 2 and Level 3 answers turned on the 
level of detail with which the policy was explained and the understanding which linked it 
to Democratic traditions.  There were some impressive answers at the top end which were 
able to cite the policies of previous Democratic presidents as establishing or maintaining 
traditions. Weaker answers tended to describe three policies in outline and define them 
as Democratic, as the Democrats had overwhelmingly voted for it or the Republicans had 
overwhelmingly voted against it. In fact, some answers spent more time discussing why 
Republicans have opposed a given policy rather than why Democrats supported it. There 
was some confusion around the issue of gay rights and quite a few candidates claimed 
that President Obama had legalised same sex marriage personally. The mechanisms 
of ‘Obamacare’ were not well understood and a lot of candidates thought it is a direct 
equivalent of the UK NHS. Some candidates ignored the request for three policies and 
discussed four or five which inevitably worked to their disadvantage. Either through a desire 
for "balance" or because they had run out of material, some answers tried to show that 
Obama's policies were not part of the Democratic tradition, which could not be rewarded.
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This answer is unusual in the precision of its knowledge: 
in particular, very few candidates were aware of the 
different elements of "Obamacare" explained here. It 
is hard to see how in 15 minutes this question could be 
answered any better and full marks were awarded.

Examiner Comments

This answer does not waste any time with an 
introduction, outlining the points which will be 
made later on but gets straight into answering 
the question. This is an effective approach as you 
cannot be rewarded twice for the same material.

Examiner Tip
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Question 2
Most candidates could identify at least three different methods used by pressure groups, 
and it was the relevance of evidence and the intelligence of the explanation which 
determined how highly they could be placed. In order to achieve Level 3, answers needed 
to offer a judgement on how effective these methods were. A lot of answers cited "iron 
triangles" as a method and, while this was certainly rewardable, many candidates struggled 
to explain with any precision how exactly a group might use one to influence the executive. 
A surprisingly large number of candidates claimed that a method of influencing the 
executive was to influence another branch, for example by lobbying senators for or against 
a judicial nominee or bringing an action in the legal system. At the lower end, answers 
tended to be very generalised and not well linked to the executive branch, often straying 
into an answer that was more about Congress, and a number used the "Dirty Dozen" list 
as an example of an attempt to influence the executive. A few candidates did not appear 
to understand the term ‘executive’ and wrote about all three branches of the federal 
government. 



9GCE Government & Politics 6GP03 3C



10 GCE Government & Politics 6GP03 3C



11GCE Government & Politics 6GP03 3C

One of the merits of this answer is that it is firmly 
focused on the executive, when many answers 
reproduced what read like generic pressure 
group method answers which were as (or more) 
applicable to Congress as the executive. It 
struggles slightly to explain convincingly the exact 
relationship between a pressure group and the 
executive exercised through an "iron triangle" but 
it is nevertheless a solid Level 3 answer.

Examiner Comments

If the question asks you to assess 
a pressure group's methods then 
you must offer a judgment based 
on evidence of its likely success – 
it isn't enough simply to describe 
how the method works.

Examiner Tip
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Question 3
This question was popular and most candidates were able to come up with at least three 
factors which explain low voter participation in the US, some more convincing than others. 
As is true of affirmative action answers, factors which could be supported by evidence of 
policies and politicians, e.g. the introduction of ID requirements by some Republican states, 
were always stronger than those which relied on ascribed psychological states, e.g. that 
voters don’t understand what the midterms are about. Some candidates saw this question 
as an outlet for all their knowledge of the Electoral College and went into more detail 
than could be rewarded. The frequently made claim that the Electoral College suppressed 
turnout in ‘safe’ states was hardly ever supported by any evidence. This was a question 
where candidates reached Level 3 more frequently through four reasonably developed 
points than three detailed ones. Weaker answers tended to become repetitive, blurring 
together points on voter apathy/disillusion/fatigue/incomprehension. 
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This sort of question lends itself to a very 
straightforward structure, and nearly every 
answer was structured like this one – one factor 
affecting voter turnout per paragraph. One or 
two sentences read slightly oddly, for example 
the reference to "friends of illegal immigrants", 
but overall there is sufficient detail in the 
explanation to place this in the bottom of Level 3.

Examiner Comments

Be sparing in your use of 
statistics – even for a question 
like this, which could draw on 
statistical evidence more than 
most. Too many unattributed 
statistics look unconvincing.

Examiner Tip
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Question 4
This question was not the best answered on the paper, surprisingly since the same issue, 
the failings of affirmative action, has appeared in different guises at least twice before. 
The main problem candidates had was focusing on the key term of the question, "racial 
inequality"; instead they often offered general criticisms of affirmative action or factors 
which explained why it has not led to a colour-blind society. In both cases, the link could 
be made to racial inequality but it frequently wasn’t. Another less successful approach was 
to provide detailed evidence of the current state of racial inequality without attempting 
to explain why affirmative action has failed to provide a remedy. Candidates frequently 
brought in the Ferguson riots and allegations of racism on the part of the police, but 
again it was rarely linked convincingly to racial inequality. Stronger answers focused on 
politicians and political events, showing how a lack of political support at the federal level, 
decisions by the Supreme Court and actions at state level have all combined to undermine 
the effectiveness of affirmative action. Others argued that affirmative action has not been 
in place long enough, was not radical enough and that its original purpose was to tackle 
equality of opportunity, not produce equality of outcome. Quite frequently, answers began 
with a sometimes quite lengthy paragraph defining affirmative action which was really a 
waste of the candidate’s time. Some answers argued that AA had ended inequality, just 
as some question 1 answers had that Obama's policies were not part of the Democratic 
tradition, and this could not be rewarded. 
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This is a typical low-mid Level 3 answer to 
this question: there are four distinct points, 
all explained clearly, with some degree of 
supporting detail. To move closer to full marks, 
there could be perhaps another Supreme 
Court like Bakke, and more on what politicians 
other than Clinton have said and done.

Examiner Comments

When writing about affirmative 
action, try to focus on the politics 
surrounding it rather than speculating 
what, for example, the white patients 
of a black dentist might be feeling.

Examiner Tip
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Question 5
This was a popular question and probably the best answered of the 15 mark questions. 
Candidates tended to adopt one of two approaches and weaker answers often focused on 
describing different factions within the Republican Party, very often social conservatives, 
fiscal conservatives and ‘moderates’, with little or no indication what they might be divided 
about. This wasn’t wholly surprising, as most of the fiscal conservatives in the Republican 
Party are social conservatives after all, and vice versa. Stronger answers often showed 
an impressive knowledge of the splits over policy that have emerged under the Trump 
administration, both over Trump himself and the policies he has proposed. They then went 
right up to the attempts to pass the American Health Care Act and the different reasons 
of the Freedom Caucus and the Tuesday Group for not supporting it. The question asked 
about current divisions and, while references to the compassionate conservatism of 
George W. Bush could receive some reward, it is a stretch to describe the divisions between 
compassionate conservatives and others as "current". 
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Like many answers to this question, this answer 
shows a quite detailed knowledge of some names 
and factions within the modern Republican 
Party. What it could do better is make explicit the 
divisions between them, but nevertheless it does 
enough to get into the bottom of Level 3.

Examiner Comments

Conclusions rarely add much to short question 
answers and the conclusion in this answer doesn't 
even conclude, but adds some new material. An ac-
tual conclusion is necessarily repetitive and you can 
use the time more profitably on your next question.

Examiner Tip
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Question 6
For many candidates, pressure group questions seem to be the default option, and they 
will have been pleased to see this relatively straightforward version.  Most answers reached 
at least the middle of Level 2 although, as is always the case, there were fewer outstanding 
answers than there would be for a parties 45 mark question. There was a tendency for 
candidates to have more to say on why pressure groups have too much power and some 
focused on whether pressure groups had power at all without considering whether it was 
too much or not. The factors which explained excessive pressure group power were typically 
iron triangles, the revolving door, lobbying, campaign finance and the numerous access 
points in the US system. A surprising number of answers claimed that pressure groups 
had too much power over the court system through test cases and amicus curiae briefs. 
Likewise, it seemed an odd argument that attacks on abortion clinics showed pressure 
groups had too much power. On the counter argument, stronger answers considered the 
restrictions on pressure groups, how they use the courts to protect minority rights through 
test cases and how groups play other crucial functions within US democracy.
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The strengths of this answer are the clarity 
of the explanation and the confident 
handling of the detail in the evidence, and 
these are sufficient to place it in mid-Level 3.

Examiner Comments

When writing about pressure groups 
at A2, it is important to avoid giving the 
impression that you are just recycling your 
AS essays by showing detailed awareness 
of the US context, as this answer does.

Examiner Tip
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Question 7
A question on the outcome of presidential elections was probably not too hard to anticipate 
and many candidates seemed well prepared. The question did ask about elections – plural 
– which meant that candidates had to refer to more than just 2016, and answers which 
didn’t stayed in Level 2. The fact that Clinton won many more votes than Trump posed a 
slight problem for candidates insofar as both candidates could be seen as ‘winners’ and 
consequently it became more complicated to argue that any given factor was particularly 
decisive one way or the other.  The formulation of the question obviously preceded the 
nomination of the two main 2016 candidates, but the three factors named applied very well 
to them, particularly personality, and there were a lot of very full answers. There was a lot 
of impressive detail on elections prior to 2016 and the strongest answers were able to show 
that different factors were the most important depending on the individual circumstances 
of different elections, using comparisons between them to make the point. Weaker answers 
tended not to cover each of the three factors and to focus on one election only. 
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Many answers to this question focused 
almost exclusively on the 2016 election and 
it is an impressive feature of this one that 
the first evidence it uses comes from 1996, 
as well as other elections subsequently. It 
is a solid mid-Level 3 answer.

Examiner Comments

45 mark answers need an introduction 
and conclusion, but almost all your reward 
will come from the analysis in between, so 
don't spend too much time on them - the 
length in this answer is just about right.

Examiner Tip
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Question 8
This was a new question and candidates who answered it would have been forced to think 
on their feet. The best answers were impressive in the way they combined knowledge 
of party policies and minority concerns. Candidates would have been aware that this 
question was testing the ‘racial and ethnic politics’ section of the specification but, given its 
wording, discussion of LGBT representation was rewarded. However, there is no definition 
of minority which would have made discussion of women’s issues rewardable and neither 
was it possible to reward discussion of prisoners or any of the other non-racial "minorities" 
candidates chose to identify.  Stronger answers were able to show that both parties had 
policies which did represent minorities, typically discussing "Obamacare", immigration policy 
and affirmative action for the Democrats, as well as Republican policies on immigration, 
attitudes to Cuba and social conservatism, which appealed to the interests of some minority 
voters. Weaker answers tended to focus on the representation of minorities within the 
different branches of the federal government, which was, at best, only a very partial answer 
to the question. 
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This is one of the better answers to this question and the 
candidate intelligently adapts what they know to what 
the question is asking. It is more effective to choose a 
relatively small number of groups, as this candidate does, 
and go into some detail, rather than skim over a larger 
number when the answer would start to read like a list.

Examiner Comments

"A lot about a little" is a maxim that can be 
applied to exam answers in many subjects - it 
is almost always better to analyse a few things 
in detail than a larger number superficially.

Examiner Tip
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Paper summary
Based on their performance on this paper, candidates are offered the following key 
pointers: 

•	 Short answer structure – three or four separate points, one per paragraph, achieve the 
balance between range and detail.

•	 Answer the question – read the question carefully: for example, if the question asks 
you to 'assess', you must do more than simply explain, for example, a pressure group 
method, but additionally give a judgment on its effectiveness.

•	 First sentence of each paragraph – use this to show the connection with the previous 
paragraph by using an opening word like ‘however’, and that you are answering the 
question in front of you by repeating its key terms. 

•	 45 mark answer structure –two halves, or a series of arguments and counter-arguments 
can work equally well. If you choose the arguments and counter-arguments option, try 
to give the reader a sense of where your overall argument is headed. 
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Grade Boundaries
Grade boundaries for this, and all other papers, can be found on the website on this 
link:

http://www.edexcel.com/iwantto/Pages/grade-boundaries.aspx
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